## AGATE PASS SEA PENS

SUQUAMISH TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Take		
Run:	NA	Egg Take		
Stock:	MINTER CR 15.0048	Shipping		
Brood Origin:	MIXED	Received	272,000	13,600
Integrated/Segregated:	INTEGRATED	Planted	270,000	27,000

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2025	05/2025	GORST CR REAR.POND-1	272,000	20.0	13,600	JUVENILE

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	220,000	10.0	22,000	JUVENILE	AGATE PASS SEA PENS	AD	
06/2026	06/2026	50,000	10.0	5,000	JUVENILE	AGATE PASS SEA PENS	AD	$\checkmark$

Memo:

## **ELLIOTT BAY TRIBAL NP**

MUCKLESHOOT / SUQUAMISH

#### NORTH PUGET SOUND

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fee Teke		Total Total
Run:	NA	Egg Take		
Stock:	GREEN R NATIVE (9)	Shipping		
Brood Origin:	MIXED	Received	1,000,000	41,333
Integrated/Segregated:	INTEGRATED	Planted	1,000,000	100,000

## **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2025	03/2025	KETA CREEK COMPLEX	50,000	15.0	3,333	JUVENILE
Received	03/2025	03/2025	PALMER HATCHERY	950,000	25.0	38,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	950,000	10.0	95,000	JUVENILE	ELLIOTT BAY 10A	1	
06/2025	06/2025	50,000	10.0	5,000	JUVENILE	ELLIOTT BAY 10A	1	$\checkmark$

Memo: Joint Muckleshoot/Suquamish Tribe Project.

## **ELLIOTT BAY TRIBAL NP**

MUCKLESHOOT / SUQUAMISH

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Take		
Run:	NA	Egg Take		
Stock:	GREEN R NATIVE (9)	Shipping		
Brood Origin:	MIXED	Received	1,000,000	41,333
Integrated/Segregated:	INTEGRATED	Planted	1,000,000	100,000

## **Estimated Brood Data**

Egg Take Goal

# **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2026	03/2026	KETA CREEK COMPLEX	50,000	15.0	3,333	JUVENILE
Received	03/2026	03/2026	PALMER HATCHERY	950,000	25.0	38,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2026	06/2026	950,000	10.0	95,000	JUVENILE	ELLIOTT BAY 10.	A	
06/2026	06/2026	50,000	10.0	5,000	JUVENILE	ELLIOTT BAY 10.	A	$\checkmark$

Memo: Joint Muckleshoot/Suquamish Tribe Project.

## LUMMI SEA PONDS

#### LUMMI TRIBE

#### NORTH PUGET SOUND

Brood Year:	2023		Total #	Total Pounds
Species:	Coho		····	Total Total a
Run:	NA	Egg Take		
Stock:	LUMMI STOCK	Shipping		
Brood Origin:	HATCHERY	Received	1,000,000	25,000
Integrated/Segregated:	SEGREGATED	Planted	1,000,000	66,666

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	04/2025	04/2025	SKOOKUM CR HATCHERY	1,000,000	40.0	25,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	950,000	15.0	63,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	
06/2025	06/2025	50,000	15.0	3,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	$\checkmark$

Memo:

### LUMMI SEA PONDS

#### LUMMI TRIBE

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Caa Taka		
Run:	NA	Egg Take		
Stock:	WHATCOM CR 01.0566	Shipping		
Brood Origin:	HATCHERY	Received	1,500,000	0
Integrated/Segregated:	SEGREGATED	Planted		

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility			Number	FPP	<b>Total Pounds</b>	Life Stage	e
Received	01/2025	01/2025	WHATC	OM CR HATCHE	RY	1,500,000		0	EGGS E	YED
Estimated Release	e Data									
Start Date End Dat	te Num Re	lease	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark	Гуре	Tagged

Memo:

## LUMMI SEA PONDS

#### LUMMI TRIBE

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook			Total Total of and
Run:	Spring	Egg Take		
Stock:	NOOKSACK R 01.0120	Shipping		
Brood Origin:	MIXED	Received	500,000	0
Integrated/Segregated:	INTEGRATED	Planted	500,000	6,250

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	09/2024	09/2024	KENDALL CR HATCHERY	500,000		0	EGGS EYED

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site		Mark Type	Tagged
05/2025	05/2025	100,000	80.0	1,250	JUVENILE	LUMMI BAY	7D	AD+OT	
05/2025	05/2025	400,000	80.0	5,000	JUVENILE	LUMMI BAY	7D	AD+OT	

Memo:

#### LUMMI SEA PONDS

#### LUMMI TRIBE

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fag Tako	1,400,000	
Run:	NA	Egg Take		
Stock:	LUMMI STOCK	Shipping	1,000,000	0
Brood Origin:	HATCHERY	Received	800,000	22,857
Integrated/Segregated:	SEGREGATED	Planted	800,000	53,333

## **Estimated Brood Data**

**Egg Take Goal** 1,400,000

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Shipped	12/2024	12/2024	KENDALL CR HATCHERY	1,000,000		0	EGGS EYED
Received	03/2026	03/2026	KENDALL CR HATCHERY	800,000	35.0	22,857	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2026	06/2026	50,000	15.0	3,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	
06/2026	06/2026	750,000	15.0	50,000	JUVENILE	NOOKSACK R+LUMMI BAY	AD	

Memo:

### MANCHESTER

NATIONAL MARINE FISHERIES SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	METHOW R 48.0002	Shipping		
Brood Origin:	WILD	Received	2,000	0
Integrated/Segregated:	INTEGRATED	Planted		

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2024	06/2024	WINTHROP NFH	2,000		0	EGGS EYED
Estimated Release	<u>Data</u>						

Start Date End Date Wain Release The Total Total Total Total Ounds Ene Stage Release Site Main Release The Tagged	Start Date	End Date	e Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
---	------------	----------	---------------	-----	---------------------	------------	--------------	-----------	--------

Memo: For research.

### MANCHESTER

NATIONAL MARINE FISHERIES SERVICE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	METHOW R 48.0002	Shipping		
Brood Origin:	WILD	Received	2,000	0
Integrated/Segregated:	INTEGRATED	Planted		

# **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2025	06/2025	WINTHROP NFH	2,000		0	EGGS EYED
Estimated Release	Data						

	Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
--	------------	----------	-------------	-----	---------------------	------------	--------------	-----------	--------

Memo: For research.

## OAK HARBOR NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

Brood Year:	2023		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	SKAGIT R 03.0176	Shipping		
Brood Origin:	MIXED	Received	31,000	1,033
Integrated/Segregated:	INTEGRATED	Planted	30,000	2,500

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MARBLEMOUNT HATCHERY	31,000	30.0	1,033	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	30,000	12.0	2,500	JUVENILE	OAK HARBOR NET PENS	AD	

## OAK HARBOR NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	NA	Egg Take		
Stock:	SKAGIT R 03.0176	Shipping		
Brood Origin:	MIXED	Received	31,000	1,033
Integrated/Segregated:	INTEGRATED	Planted	30,000	2,500

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	MARBLEMOUNT HATCHERY	31,000	30.0	1,033	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	30,000	12.0	2,500	JUVENILE	OAK HARBOR NET PENS	AD	

# POINT DEFIANCE NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook			
Run:	Fall	Egg Take		
Stock:	PUYALLUP R 10.0021	Shipping		
Brood Origin:	MIXED	Received	104,000	1,040
Integrated/Segregated:	INTEGRATED	Planted	100,000	4,000

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2025	04/2025	CLARKS CRK HATCHERY	52,000	100.0	520	JUVENILE
Received	04/2025	06/2025	VOIGHTS CR HATCHERY	52,000	100.0	520	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	100,000	25.0	4,000	JUVENILE	POINT DEFIANCE NET PENS	AD	

## PORT GAMBLE BAY PENS

INTERAGENCY PROJECTS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Coo Toluo		
Run:	NA	Egg Take		
Stock:	BIG QUILCENE 17.0012	Shipping		
Brood Origin:	HATCHERY	Received	550,000	22,000
Integrated/Segregated:	SEGREGATED	Planted	525,000	35,000

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	GEORGE ADAMS HATCHERY	550,000	25.0	22,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2025	06/2025	480,000	15.0	32,000	JUVENILE	PORT GAMBLE BAY PENS	AD	
06/2025	06/2025	45,000	15.0	3,000	JUVENILE	PORT GAMBLE BAY PENS	AD	$\checkmark$

Memo:

## PORT GAMBLE BAY PENS

INTERAGENCY PROJECTS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Chum	Fag Taka		
Run:	NA	Egg Take		
Stock:	LTL BOSTON C 15.0350	Shipping		
Brood Origin:	HATCHERY	Received	1,108,000	1,108
Integrated/Segregated:	SEGREGATED	Planted	1,000,000	2,500

## **Estimated Brood Data**

Egg Take Goal

# Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	LITTLE BOSTON CR HAT	1,108,000	1,000.0	1,108	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	1,000,000	400.0	2,500	JUVENILE	PORT GAMBLE BAY PENS		

Memo:

## PORT GAMBLE BAY PENS

INTERAGENCY PROJECTS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Coo Toluo		
Run:	NA	Egg Take		
Stock:	BIG QUILCENE 17.0012	Shipping		
Brood Origin:	HATCHERY	Received	550,000	22,000
Integrated/Segregated:	SEGREGATED	Planted	525,000	35,000

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2026	02/2026	GEORGE ADAMS HATCHERY	550,000	25.0	22,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
06/2026	06/2026	480,000	15.0	32,000	JUVENILE	PORT GAMBLE BAY PENS	AD	
06/2026	06/2026	45,000	15.0	3,000	JUVENILE	PORT GAMBLE BAY PENS	AD	$\checkmark$

Memo:

### PUGET SND ANGLERS NP

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Faa Taka		
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Received	30,000	1,200
Integrated/Segregated:	INTEGRATED	Planted	25,000	2,500

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2025	02/2025	ISSAQUAH HATCHERY	30,000	25.0	1,200	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	05/2025	25,000	10.0	2,500	JUVENILE	EDMONDS NET PENS	AD	

### PUGET SND ANGLERS NP

#### WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### NORTH PUGET SOUND

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Faa Taka		
Run:	NA	Egg Take		
Stock:	ISSAQUAH CR 08.0178	Shipping		
Brood Origin:	MIXED	Received	30,000	1,200
Integrated/Segregated:	INTEGRATED	Planted	25,000	2,500

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2026	02/2026	ISSAQUAH HATCHERY	30,000	25.0	1,200	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	25,000	10.0	2,500	JUVENILE	EDMONDS NET PENS	AD	

# SOUTH SOUND NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	HATCHERY	Received	1,320,000	52,800
Integrated/Segregated:	SEGREGATED	Planted	1,300,000	108,334

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received Start Date End Date		End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	02/2025	SKOOKUMCHUCK HATCHERY	1,320,000	25.0	52,800	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	1,250,000	12.0	104,167	JUVENILE	PEALE PASS @ SS PENS	AD	
05/2025	06/2025	50,000	12.0	4,167	JUVENILE	PEALE PASS @ SS PENS	AD	$\checkmark$

# SOUTH SOUND NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Egg Take		
Run:	NA			
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	HATCHERY	Received	1,320,000	52,800
Integrated/Segregated:	SEGREGATED	Planted	1,300,000	108,334

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received Start Date End Date		End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	02/2026	SKOOKUMCHUCK HATCHERY	1,320,000	25.0	52,800	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	06/2026	50,000	12.0	4,167	JUVENILE	PEALE PASS @ SS PENS	AD	$\checkmark$
05/2026	06/2026	1,250,000	12.0	104,167	JUVENILE	PEALE PASS @ SS PENS	AD	

## SQUAXIN ISLAND PENS

#### SQUAXIN TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	NA	Egg Take		
Stock:	SKAGIT R 03.0176	Shipping		
Brood Origin:	HATCHERY	Received	720,000	28,800
Integrated/Segregated:	SEGREGATED	Planted	700,000	58,334

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	MARBLEMOUNT HATCHERY	720,000	25.0	28,800	JUVENILE

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	50,000	12.0	4,167	JUVENILE	PEALE PASS @ SI PENS	AD	$\checkmark$
05/2025	06/2025	650,000	12.0	54,167	JUVENILE	PEALE PASS @ SI PENS	AD	

Memo:

## SQUAXIN ISLAND PENS

#### SQUAXIN TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Fee Take		
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	HATCHERY	Received	620,000	24,800
Integrated/Segregated:	SEGREGATED	Planted	600,000	50,000

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	02/2025	SKOOKUMCHUCK HATCHERY	200,000	25.0	8,000	JUVENILE
Received	01/2025	02/2025	WALLACE R HATCHERY	420,000	25.0	16,800	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2025	06/2025	100,000	12.0	8,333	JUVENILE	PEALE PASS @ SI PENS	AD	
05/2025	06/2025	500,000	12.0	41,667	JUVENILE	PEALE PASS @ SI PENS	AD	

Memo: Of the 100K AD+CWT tagged, 50K are from Wallace Hatchery and 50K are from Skookumchuck .

## SQUAXIN ISLAND PENS

#### SQUAXIN TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fag Taka		
Run:	NA	Egg Take		
Stock:	SKAGIT R 03.0176	Shipping		
Brood Origin:	HATCHERY	Received	720,000	28,800
Integrated/Segregated:	SEGREGATED	Planted	700,000	58,334

## **Estimated Brood Data**

Egg Take Goal

## **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	MARBLEMOUNT HATCHERY	720,000	25.0	28,800	JUVENILE

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
05/2026	06/2026	50,000	12.0	4,167	JUVENILE	PEALE PASS @ SI PENS	AD	$\checkmark$
05/2026	06/2026	650,000	12.0	54,167	JUVENILE	PEALE PASS @ SI PENS	AD	

Memo:

### SQUAXIN ISLAND PENS

#### SQUAXIN TRIBE

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Fee Take		
Run:	NA	Egg Take		
Stock:	SKYKOMISH R 07.0012	Shipping		
Brood Origin:	HATCHERY	Received	620,000	24,800
Integrated/Segregated:	SEGREGATED	Planted	600,000	50,000

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	02/2026	SKOOKUMCHUCK HATCHERY	200,000	25.0	8,000	JUVENILE
Received	01/2026	02/2026	WALLACE R HATCHERY	420,000	25.0	16,800	JUVENILE

#### **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	06/2026	500,000	12.0	41,667	JUVENILE	PEALE PASS @ SI PENS	AD	
04/2026	06/2026	100,000	12.0	8,333	JUVENILE	PEALE PASS @ SI PENS	AD	$\checkmark$

Memo: Of the 100K AD+CWT tagged, 50K are from Wallace Hatchery and 50K are from Skookumchuck .

# WESTPORT NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Faa Taka		
Run:	Late	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	51,000	3,000
Integrated/Segregated:	INTEGRATED	Planted	50,000	4,167

## **Estimated Brood Data**

Egg Take Goal

#### **Estimated Transfer Data**

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2025	01/2025	BINGHAM CR HATCHERY	51,000	17.0	3,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	05/2025	50,000	12.0	4,167	JUVENILE	WESTPORT BOAT BASIN	AD	$\checkmark$

# WESTPORT NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2023		Total #	Total Pounds
Species:	Coho	Cas Take		
Run:	NA	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	105,000	6,176
Integrated/Segregated:	INTEGRATED	Planted	100,000	8,333

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2025	01/2025	BINGHAM CR HATCHERY	105,000	17.0	6,176	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2025	04/2025	45,000	12.0	3,750	JUVENILE	WESTPORT BOAT BASIN	AD	
04/2025	05/2025	55,000	12.0	4,583	JUVENILE	WESTPORT BOAT BASIN	AD	

# WESTPORT NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho			
Run:	Late	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	51,000	3,000
Integrated/Segregated:	INTEGRATED	Planted	50,000	4,167

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	BINGHAM CR HATCHERY	51,000	17.0	3,000	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	50,000	12.0	4,167	JUVENILE	WESTPORT BOAT BASIN	AD	$\checkmark$

# WESTPORT NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

#### COASTAL / PUGET SOUND / HOOD CANAL

Brood Year:	2024		Total #	Total Pounds
Species:	Coho	Can Taka		
Run:	NA	Egg Take		
Stock:	SATSOP R 22.0360	Shipping		
Brood Origin:	MIXED	Received	105,000	6,176
Integrated/Segregated:	INTEGRATED	Planted	100,000	8,333

## **Estimated Brood Data**

Egg Take Goal

#### Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	<b>Total Pounds</b>	Life Stage
Received	01/2026	01/2026	BINGHAM CR HATCHERY	105,000	17.0	6,176	JUVENILE

## **Estimated Release Data**

Start Date	End Date	Num Release	FPP	<b>Total Pounds</b>	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	45,000	12.0	3,750	JUVENILE	WESTPORT BOAT BASIN	AD	
04/2026	05/2026	55,000	12.0	4,583	JUVENILE	WESTPORT BOAT BASIN	AD	